
𝜑 𝜆

𝑧
#„
Ω Ω

𝑟 𝑎
#   „
HM 𝑒̂􀐞 =

#   „
HM/𝑟

Ω

( , ̂𝚤, ̂𝚥, 𝑘̂) ̂𝚤 ̂𝚥 𝑘̂

d𝑥 = 𝑎 d𝜆 cos 𝜑

d𝑦 = 𝑎 d𝜑

(𝑢, 𝑣, 𝑤)

#„
𝑣􀐔 = 𝑢 ̂𝚤 + 𝑣 ̂𝚥

𝑤𝑘̂



H

C

M

k

i

j





r

a

Pôle 
nord

équateur

Σ
#„
𝐹 = 𝑚

#„
𝑎





#„
𝑋 𝑎

𝑟

d
#„
𝑋

d𝑡 |􀐍
=
d

#„
𝑋

d𝑡 |􀐞
+

#„
Ω ∧

#„
𝑋

#  „
CM

#„
𝑣 =

􀎛 #   „􀎀􀎊
􀎛􀐠

#„
𝑣􀐍 =

#„
𝑣􀐞 +

#„
Ω ∧

#  „
CM

#„
Ω ∧

#  „
CM

#„
𝑣􀐞 =

#„
0

#„
𝑣􀐑

#„
𝑣􀐍

#„
𝑎􀐍 = (

d
#„
𝑣􀐞
d𝑡 |􀐞

+
#„
Ω ∧

#„
𝑣􀐞) +

#„
Ω ∧ (

#„
𝑣􀐞 +

#„
Ω ∧

#  „
CM)

#„
Ω ∧ (

#„
Ω ∧

#  „
CM) = −Ω

􀍯 #   „
HM

#„
𝑎􀐍 = Σ

#„
𝐹 =

#„
𝑎􀐞 + 2

#„
Ω ∧

#„
𝑣􀐞 − Ω

􀍯 #   „
HM

#„
𝑎􀐑

#„
𝐺

#„
𝑅

#„
𝑎􀐍 =

#„
𝑎􀐑 = −Ω

􀍯
𝑟𝑒̂􀐞

#„
𝑎􀐑 = −Ω

􀍯
𝑟𝑒̂􀐞 =

#„
𝐺 +

#„
𝑅

#„
𝑅

#„
𝐺

#„
𝑎􀐑

#„
𝐺

#„
𝑔 =

#„
𝐺 −

#„
𝑎􀐑

#„
𝑔 +

#„
𝑅 =

#„
0

#„
𝑔

#„
𝑅

#„
𝐺





Equateur

Pôle

H

C

M

R

G g

ae

er

𝑉

𝑉
􀍯
/𝑅

Σ
#„
𝐹 =

#„
𝐺 +

#„
𝑅 =

#„
𝑎􀐑

𝑉􀐍

𝑉
􀍯
􀐍 /𝑟

̂𝚤 𝑢
#   „
HM 𝑟̇ 𝑥̇ = d𝑥/ d𝑡

𝑢􀐍 = Ω𝑟 + 𝑢
#„
𝑎 = Σ

#„
𝐹 𝑒̂􀐞

−
(Ω𝑟 + 𝑢)

􀍯

𝑟
+ 𝑟̈ = 𝑎􀐑 = −Ω

􀍯
𝑟

𝑟̈ = 𝑢(2Ω +
𝑢

𝑟
)



𝑒̂􀐞 ̂𝚥 𝑣̇ =

−𝑟̈ sin 𝜑

𝑣̇ = −𝑢 sin 𝜑 ⋅ (2Ω +
𝑢

𝑟
)

𝑣̇ < 0 𝑢 > 0

𝜎 = 𝑢􀐍𝑟 = (Ω𝑟 + 𝑢)𝑟

𝑢􀐍 = 𝑢􀐑 = Ω𝑟

𝑟 𝑢􀐍
𝑢􀐑 = Ω𝑟 𝑢 > 0

𝜎 (Ω𝑟 + 𝑢)
􀍯 #„

𝐺



𝑉􀐑 𝑉􀐍 𝑉
􀚄
􀐑 𝑉

􀚄
􀐍

𝑟𝑉

d𝜎

d𝑡
= 0 = 𝑟̇(Ω𝑟 + 𝑢) + 𝑟(Ω𝑟̇ + 𝑢̇)

𝑢̇ = −𝑟̇(2Ω +
𝑢

𝑟
)

𝑣 = 𝑎𝜑̇ 𝑟 = 𝑎 cos 𝜑

𝑟̇ = −𝑎𝜑̇ sin 𝜑 = −𝑣 sin 𝜑

𝑢̇ = 𝑣 sin 𝜑 ⋅ (2Ω +
𝑢

𝑟
)



#„
𝑣􀐞

sin 𝜑 > 0 2Ω sin 𝜑𝑉
#„
𝐹􀓭

x

z

y

 x

 y

 z

O

P x P x x

𝑂𝑥

𝑆

𝑝𝑆 𝛿𝑉 = 𝛿𝑥𝛿𝑦𝛿𝑧

𝑥

𝐹
∗
􀐜􀔜 = 𝑝(𝑥) ⋅ 𝛿𝑦𝛿𝑧 − 𝑝(𝑥 + 𝛿𝑥) ⋅ 𝛿𝑦𝛿𝑧 ≃ (−

∂𝑝

∂𝑥
𝛿𝑥) 𝛿𝑦𝛿𝑧

𝐹􀐜􀔜 = 𝐹
∗
􀐜􀔜/(𝜌𝛿𝑥𝛿𝑦𝛿𝑧) = −

1

𝜌

∂𝑝

∂𝑥

𝑦 𝑧

#„
𝐹􀐜 = −

1

𝜌

⎛

⎜

⎝

􀏣􀐜
􀏣􀐤􀏣􀐜
􀏣􀐥
􀏣􀐜
􀏣􀐦

⎞

⎟

⎠

= −
1

𝜌

#„
∇𝑝

𝑢/𝑟

𝑢 2Ω



z

x

A B

C
P=Cste

 x

 z

O

𝑥

𝐹􀐜􀔜 = −
1

𝜌

𝑝􀓬 − 𝑝􀓫

𝛿𝑥

𝐹􀐜􀔜 = −
1

𝜌

𝑝􀓬 − 𝑝􀓭

𝛿𝑥
= −

1

𝜌

𝑝􀓬 − 𝑝􀓭

𝛿𝑧
⋅
𝛿𝑧

𝛿𝑥

𝑝􀓬 − 𝑝􀓭

𝛿𝑧
= −

∂𝑝

∂𝑧
= 𝜌𝑔

𝐹􀐜􀔜 = −𝑔(
𝛿𝑧

𝛿𝑥
)

􀐜

𝑦

#„
𝐹􀐜 = −

1

𝜌

#„
∇ 􀐦(𝑝) = −𝑔

#„
∇ 􀐜(𝑧)

𝑧 𝑔𝑧

𝑧

𝑧



𝑧

𝑧

𝑝􀍮 𝑝􀍯

𝑔(𝑧􀍯 − 𝑧􀍮) = 𝑅 ⟨𝑇⟩
􀍯
􀍮 ln

𝑝􀍮
𝑝􀍯

#„
𝐹
􀍯
􀐜 −

#„
𝐹
􀍮
􀐜 = −𝑅

#„
∇ ⟨𝑇⟩

􀍯
􀍮 ⋅ ln

𝑝􀍮
𝑝􀍯

d
#„
𝑣􀐞
d𝑡

+ 2
#„
Ω ∧

#„
𝑣􀐞 =

#„
𝑔 −

1

𝜌

#„
∇𝑝

#„
𝑔

#„
𝐹􀓭 = −2

#„
Ω ∧

#„
𝑣􀐞

𝐿 𝐻

𝐻 ∼ 10 𝐿

𝐿 ∼ 1000

𝑎 km

𝑈 𝑊

𝑈 ∼ 10m⋅s
􀍸􀍮

𝑊 ≤ 𝑈𝐻/𝐿



𝐿 𝐻 𝑈 𝑊 𝑓 𝛽 𝛿𝑝/𝜌̄

10
􀍳

10
􀍱

10 ⋅
􀍸􀍮

m⋅s
􀍸􀍮 􀍸􀍱 􀍸􀍮

10
􀍸􀍮􀍮 􀍸􀍮

⋅
􀍸􀍮

10
􀍰 􀍯

⋅
􀍸􀍯

d𝑤/ d𝑡 −2Ω𝑢 cos 𝜙 −(𝑢
􀍯
+ 𝑣

􀍯) /𝑎 −𝜌
􀍸􀍮
∂𝑝/∂𝑧 −𝑔

𝑈𝑊/𝐿 𝑓𝑈 𝑈
􀍯
/𝑎 𝑝􀍭/(𝜌􀍭𝐻) 𝑔

⋅
􀍸􀍯 􀍸􀍴 􀍸􀍰 􀍸􀍲

𝐿 = 1000 𝑊 =

1 cm⋅s
􀍸􀍮

𝑇 = 𝐿/𝑈

𝑓 = 2Ω sin 𝜑

𝑝, 𝑇, 𝜌

𝛿𝑝/𝜌 ∼ 𝑝􀍭/100 = 1000m
􀍯
⋅s
􀍸􀍯

∂𝑝

∂𝑧
= −𝜌𝑔

𝜌𝑔 ∂𝑝/∂𝑧

d𝑤/ d𝑡

#„
𝐹􀓭 = −2

#„
Ω ∧

#„
𝑣􀐞



̂𝚤 ̂𝚥 𝑘̂

#„
𝐹􀓭 = −2Ω(

0

cos 𝜑

sin 𝜑

) ∧ (

𝑢

𝑣

𝑤

) = −2Ω(

𝑤 cos 𝜑 − 𝑣 sin 𝜑

𝑢 sin 𝜑

−𝑢 cos 𝜑

)

#„
𝐹􀓭 𝑘̂

#„
𝑔

𝑤

𝑊 ≪ 𝑈
#„
𝐹􀓭

#„
𝐹􀓭 ≃ −2Ω sin 𝜑(

−𝑣

𝑢
)

#„
𝐹􀓭 ≃ −𝑓𝑘̂ ∧

#„
𝑣􀐔

#„
𝑣􀐔 𝑓 = 2Ω sin 𝜑

𝜑 ∼ 45 𝑓 ∼ 10
􀍸􀍱
s
􀍸􀍮

sin 𝜑 > 0

d
#„
𝑣􀐔
d𝑡

+ 𝑓𝑘̂ ∧
#„
𝑣􀐔 =

#„
𝐹􀐜􀔌

#„
𝑣􀐔

#„
𝐹􀐜􀔌

=
(𝑈

􀍯
/𝐿)

𝑓𝑈
=

𝑈

𝑓𝐿

𝑓 ∼ 10
􀍸􀍱
s
􀍸􀍮

𝑈 ∼ 10m⋅s
􀍸􀍮

∼ 0,1

𝐿 ∼ 1000

𝐿 ∼ 10 ∼ 10

𝑤



𝑥
􀐐􀐡
􀐐􀐠 −2Ω𝑣 sin 𝜙 +2Ω𝑤 cos 𝜙 +

􀐡􀐣
􀐍 −

􀐡􀐢 􀎫􀎘􀎥 􀑞
􀐍 −

􀍮
􀑑
􀏣􀐜
􀏣􀐤

𝑦
􀐐􀐢
􀐐􀐠 +2Ω𝑢 sin 𝜙 +

􀐢􀐣
􀐍 +

􀐡􀑧 􀎫􀎘􀎥 􀑞
􀐍 −

􀍮
􀑑
􀏣􀐜
􀏣􀐥

𝑈
􀍯
/𝐿 𝑓𝑈 𝑓𝑊 𝑈𝑊/𝑎 𝑈

􀍯
/𝑎 𝛿𝑝/(𝜌𝐿)

⋅
􀍸􀍯 􀍸􀍱 􀍸􀍰 􀍸􀍳 􀍸􀍵 􀍸􀍲 􀍸􀍰

𝐿 ≿ 1000

#„
𝐹􀓭 +

#„
𝐹􀐜 =

#„
0

#„
𝑣􀐓 𝑓𝑘̂ ∧

#„
𝑣􀐓 =

#„
𝐹􀐜

#„
𝑣􀐓 =

1

𝜌𝑓
𝑘̂ ∧

#„
∇ 􀐦(𝑝) =

𝑔

𝑓
𝑘̂ ∧

#„
∇ 􀐜(𝑧)

V
F

iso
ba
re
s

Basses

Pressions

Hautes

Pressions

g
p

FCo

𝑧



𝑝

∂
#„
𝑣􀐓
∂𝑝

=
𝑔

𝑓
𝑘̂ ∧

#„
∇ 􀐜 (

∂𝑧

∂𝑝
)

𝑔

𝑝

∂𝑧

∂𝑝
= −

1

𝜌𝑔
= −

𝑅𝑇

𝑔𝑝

𝑇

∂
#„
𝑣􀐓
∂𝑝

= −
𝑅

𝑓𝑝
𝑘̂ ∧

#„
∇ 􀐜𝑇

𝑝

𝑝􀍮 𝑝􀍯
#„
𝑣
􀍯
􀐓 −

#„
𝑣
􀍮
􀐓 =

𝑅

𝑓
ln
𝑝􀍮
𝑝􀍯
𝑘̂ ∧

#„
∇ ⟨𝑇⟩

􀍯
􀍮

⟨𝑇⟩

#„
𝑣
􀍯
􀐓 −

#„
𝑣
􀍮
􀐓

#„
𝑣􀐓 𝑧 ∂𝑝/∂𝑧 = −𝜌𝑔

∂
#„
𝑣􀐓
∂𝑧

=
𝑔

𝑓𝑇
𝑘̂ ∧

#„
∇ 􀐜𝑇

#„
𝐹􀐒􀐞 = −𝑘

#„
𝑣

#„
𝐹􀓭 +

#„
𝐹􀐜 +

#„
𝐹􀐒􀐞 =

#„
0





𝛼

−𝐹􀐒􀐞 cos 𝛼 + 𝐹􀓭 sin 𝛼 = −𝑘𝑉 cos 𝛼 + 𝑓𝑉 sin 𝛼 = 0

tan 𝛼 = 𝑘/𝑓

𝛼 𝑘

𝑓

VF

F

iso
ba
re
s

Basses

Pressions

Hautes

PressionsF

Co

p

frict

α

#„
𝐹􀓭

𝐹􀐜 cos 𝛼 − 𝐹􀓭 = 𝑓𝑉􀐓 cos 𝛼 − 𝑓𝑉 = 0

𝑉 = 𝑉􀐓 cos 𝛼

𝛼


